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LOAD®TUTOR-B"
LIST
10 HIHEH=%7E0O
26 sF{11,0
3¢ KEY IM1°
40 sREY 2°2¢
¢ =KEY 3°3¢
Al YDU23; 820250304
70 DINSCarray®(32}:DIRERarrays{6:DIMBarrays (32,6}
80 DiHHarray$(32,6):D1Hleighting? (32}
90 FORJI=17032:FORTA=1T06: Barrays (21, TE = 00" 1 NEXTIZ:NEXTIY
100 FOR §%=1T012:READ SCarray$ (JU):NEXT JY
110 FOBR J%=17DA:READ ERarray$ (JAYaNENT 3
120 8CE=1:ERI=1:5CLipit=12:C2%=0: Hi=0
F30VDG 26,12
140 VBUIZ9, 157 135:PRINT"  HALCH SYSTEHM - TUTORE ACCERS"
150 VDU 129,157,135:PRINT®  LITERACY BEHAYIOURS CHECKLIST®
169 FRINT' " "“Do you want tp:"
§70 PRINT® *
180 PRIRT' ' "CHRE(IZ9)"F1*CHRE{135) "~ Have more information on literacy™'” behavigurs 77
190 PRINT''CHRE (129} “$2°THR${133) "~ Update your student’s ratings for™'" titeracy behavinurs 9
195 FRINT 'CHRE(129)"#3°CHRE{133)"- Neither. Escape to Tutors Menu.”
200 FRINT' "' “Select using®CHR2(12%)"red koys®CHRE(IZS) "only®
210 J=BET:1F J=3C PROCmodifys7:CLOSEEO:PROCChoice
215 IF d=51:A7=2: CHAINTHENUZ®
220 IF J{A9:PRINTCHRE(13D) "Typing error - try again '9:607TO210
230 PROChintro:d=BET:ROTOIC
240 J=BET
250 END
260NATA®Fersonal fIndividual  Relationships {1

274DATA" Broup Relationships {2i"
290DATA" Domestic and Home {31"
29GDRTA® Education/Training {4°
I000ATA" Health {5
I1GDATA® Functional/Jch {a}®
I20DATAConsueer matters {71
I0DATA® Travel "
I40DATA" Betting employaent/  Being uneeployed (937
J3CDATA® Civic/Political (103®
I60DATA" Entertainsents/Hedia {1
I70DATR® The Law iz
I80 DATA"Comprehend simnle instruction{s) {11*
J90DATA® Comprehend facts and concepts (21"
F00DATA" Select and discriminate facts  and concests {33
410 DATA" fAscepble facts and  concepts (5"
4200ATA® Present facts and concapts {51
430 DATA® Appreciate and enjay {4}"

440 DEF PROCiine{iength,cal)

430 LOCAL J%

450 FRIATCHR¥(colls: FOR J4=170length:PRINT® " iNEXT J%

470 ENDPROC

480 DEF PROCcontexts

490 FOR J1=1TD{2:PRINT® ";SCarray#$ (3%):PROCIine {20,147 :PROCwait {1200)
500 IF Ji=6:PRINT'CHR${129);°  Press any key® CHR§(1293® for 7-12%:J=BET:CLS
10 NEXT 3

520 PRINT'CHRE{129):"  Press any key® 'CHRE{129)° to go on”

530 §=6ET

540 ENDFROC

330 DEF PROCers

Gb0 FOR J2=1T06:PRINT® *:ERarray$(J%):FROCwait (1200):PROCIine{20, 148)
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NEXT 3%

ENDPROL

DEF PROCwaititime)
LBCAL J%

FOR J%=1T0 tiaerHEXT JI
ENDBPROC

DEF PROCSrapelgrel
PRIKTCHRS {gonld; 77
FiR Ji= ITWhExght
FRINTCHRE (grol) "5"CHRE (ool ) jaFORTE=1T0si22-2: PRINT" *; s MEXTIN:PRINTCHRS (groli”s”

NEXT &Y

PRINTCHR$ {gcol};sFORJE=1T0512042:PRINT" ;s NEXTIE

IF gcol=131 FRINT "Enter title in framse then press RETURN""“Enter EHD then RETURN to finish*:B0T0720

size,icol neight
(FORIZ=1T05ize: PRINTS "

§
L

I'T'l

REXTINIPRINT i®

IF geol=146 PRINT'CHR${130)"  EXPECTED REACTIONS®: ELSE [F grol=147 PRINT'CHRE(131"  SDCIAL CONTEXTS®;ELSE PRINT'CHRE(134)

"Rating":

716
720
130
740
750
748
770
780
799
BGi
BiG
B34
830
B4G

IF gcol=146 PRINTCHR$(129)* §2° ELSE IF qrol=147FRINTCHRE(IZD)" £1°

ENDPROC

DEF PROCERtext
YDUZE, 3. 21,24,18
CLs

IF ER%=7:ERY=1

PRIATERarray$(ER%)

ENDPROD

DEF PROCECHest

YD 28,3,5,24,2

[i8

IFELEEC imt t i BLY=1

IFSCL>12 PRINTCHRE(133Y;
PRINTSCarray${SC4) 1 IF SLUIZPRINTY{*:504 )"

50 ENDPROC

830
BAO
870
Bag
Beg
200

910 ENDPROC

324 DEF PROCtextl

930 PRINT*This is a list® "of the commonly” "experienced® "IHPOSED® ""social contexts® "in which®

940 PRINT®literacy tasks® “are likely to" "be encountersd.”

350 PRINT *The list iz not"'“exhaustive and®'“does not®""inciude contexts® "which are more® "specific to the" *individual (the”

940 PRINTTVOLUNTARY/" " "PERSONAL area"

976 ENDPRGC

980 DEF FROCEext2

990 FRINT"This is a list"'“gf ‘expected"'"reactions'® "f{o any given" "literary task.®’

1000 PRINT*The first is®’'"the simplest” “form of behaviour” “and the sixth® '"the most complen.®

1010 PRINT"Thus, the"'"ability to react” "competently at®’'"a given level” "implies the" ' "ability to react®™’
r level,”

1620 PRINT'CHRE(129)"Press any key "'CHR${129)° to go on.”

1030 EMDPROC

1040 DEF FROChintro

1050 LS

1060 VDULISZ, 157, 135:PRINT LITERACY BEHAVIOURS - EXPLANATIONE®

1070 PRINT' "®Literacy behaviours are simply 2°

10BO FRINT"person's"CHRE{150) "reactions®CHRE(135) *to a given”CHRE (134) *literacy™ CHRE(134) "tack "CHRE(13S)",

1090 FRINT CACHR${134)"literacy task*CHR%(135)"can occur any time thet®™ " desand is made on the literacy

1100
1140
1120
1130
1140

DEF FROCgentext{z%,b¥)

VDU 28,a%,24,b1.0

CLS
FORI%=0T024: FRINTTAB (D, J4) CHR${135) 1 NEXTHY
VDU 28,2%+1,28,b%,0

gy

PRINT"or abilities of a persoen, but gemerally®'“speaking they {all intp iwo broad" “categories:’
FRINT' "L -*CHR$(131)"[HPOSED"CHR$(135) “tasks that are not"

FRINT®  sought out by a perses, but simply""* tend to confront most of us during®

FRINT® the course of our daily lives.®

FRINT'®2 -*CHR${133) "PERSONAL/VOLUNTARY LHR$ {135) *tasks that are®

"comgetently at®’"a louwe
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138 PRIRT"  not cosscn to everyone, bub depend®
HEG FRINTY  will of an individyal.®

1170 PRINT “Press any ey te go op®rJ=REY

1186 CLS:VDUL32,157 135:PRINTYLITERACY BEHAVIOURE - Continued.®" "

1190 PRINT " IHPOSEDtasks, shich are commonly®'“experienced by most of us, can be”

1200 PRINT"clascified according to thesocial” “contextsin which they occur.®

1210 PRIMT®IY is therefore possible to prnvxde sucha classification which will give a®

1220 PRINT"frapesork for checking the ability of 3¥'"student to use liferacy behaviours on"
1230 PRINT*tasks that she/he will algost certainly®'“encounter during iife.®

1240 PRINT ""For instange:®"’

1250 PRINT®{Press any key to ga on.)":Jd=BET:PROCieposad

1260 CLE:VDULIZ, 157 135:PRINTLITERACY BEHAVIOURS - Continued.®

an the interests, personality and®

Y270 PRINT' It is puch more difficult however to®"“draw up a list of contents in this way® “forVOLUNTARY/PERSOMAL]iteracy tasks.®
1280 PRINT "This requires a close knomledge of the®'"individual for shos the classification®
129G PRINT"is to be made. In the case of a literacystudent, it will be a gradual task for®

1300 PRINT*tutor and student to draw up this list"'“together over a period of tige.”

{310 PRINT “Houever, once a*CHRE{133)"VOLUMTARY/PERSOHAL"

1320 PRINT"classification HAS been arrived at, it"'"can be added to the list of cosmon or®

1330 PRINT® IHPOSEDcontexts to give a fairly”'“acrurate picture of the social contexts®

1340 PRINT®in shich an individual is likely to be"'“using literacy skills and performing” "literacy behaviours.®
1330 PRINT *Press any iey to go on®:il=6ET

1360 CLO:VDUL2, 157, 135:PRINT LITERADY BEHAVIOURS - Continued.®’

13 O PRINT®Earlier, literacy behaviors were definedasreactionstoliteracy tasks
1380 PRINT "In fact, anyliteracy taskcarriss in® "itself certain assusptions as te how

1390 PRINT the person invelved in the task should® “react to it.®

1306 FRINT®For instance, a sign reading:"’’

{414 PRINT® *;CHREC141) ;CHR$ (1290 ;CHRE 11571 CHRE1135) 3" SHUT THE DODR  *;CHR#(136

1420 FRINT® "oCHRE(141);CHRS 1129, CHR?(lﬁ/;-EHR$x1‘5),“ SHUT THE DODR '.CHR$ 156}

1430 PRINT ""Is aliteracy taskwhich eapects a®"“fairly basicreaction- that the person®

144 FRINTwhe is involved should understand and” "act on a simple instruction.’

1450 FRINT"¥e could say that this low lsvel® "hehaviour is:®

1450 PRINTCHRE (130) "CORPREMEND SIMPLE INSTRUCTION®

147% PRINT® {Press any key to go on)®;:J=GET:CLS

14806 CLS:VDUL3Z, 157 135:PRINT LITERACY BEHAVIOURS - Continued.®’

1490 FRINT"Gn the other hand,"CHR${134)"1iteracy tasks®CHR${135)"can®

1500 PRINT"expect such more compley"CHRY(130)"reactipns"CHRE{135) "fram the person invelved in thep."

1310 VBUI29,157,135: PRINT For instance you yourself are r‘ght“

1520 VDUMZ29,157,135:PRINT"now involved in a literary fask ac®

1336 VBULZ9,157,135:PRINT "you read this text.®’

1540 PRINT"However the"CHRE(130)*reactions"CHR$(133) "expected of you"

1350 PRINT"are much sore complex than® ""understanding siaple instructions. You *

1560 FRINT"are expected to understand both facts®'"and roncepts, to be able tp relate thea®

1S70PRINT®to each other and to be further able to" “*relate thes to your own experiensce®

1586 PRINT®and previous knowledge.®’

1390 PRINT Me might call this pore coaplex type ofbehaviour the ahility to:®

160¢ FRINT 'CHR$ {130) "COHPREHEND, SELECT AND DISCRIMINATE"'CHR${(130)°FACTS AND CONCEPTS®

1616 PRINT*Press any key to go on®3;J=HET:CLS:PROCreactions:J=BET:CLS

1620 CLS:VDBUi32, 157, 135:PRINTLITERACY BEHAVIOURS - Continued.®’

1630 PRINT"Now that we know that it ig possible to" “have ;*

1640 FRINT'"t - ASocial Profileot a student by"®'®  classifyiag the social contests in®

1830 PRINT®  which he is likely to meet literacy®™'®  tasks,whetherimpesedorpersonal®’®  and voluntary.)®’

1460 FRINT "2 - A geasure of the varying®'"  cosplesities of reaction to"CHR${134)"literacy ‘tasks.®

1670 PRIRT™" - it is possible to define a student's® “achievements in literacy by rating his®

1530 FRINT"or her abilities o perfore differing” “behaviours asreactionsto tasks in®

1690 PRIRT the differingcontestswhich make wp *““his or hersocial profile.®

1700 PRINT ""{Press any key to return to senu).®;:J=6ET:CLS:RUN

1740 J=5ET

172¢ ENDPROC

1736 DEF FROCispose

1740 LLS
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1//0 VDU”Bs ,Lé (21,0

1780 PRINTCHR:(131)* GOCIAL CONTEXTS®'':PROC1ined{Z0,147)

1790 YDU26,0,24,21,4:PROCcontants: VIU 26

1800 EHDPROC

1810 DEF PROCreaciions

1820 PROCqentext (0,200 :PROCtent?

1830 VOUZE, 18,724,390, G:CLE:PRINTCHR{130) "EXPECTED REACTIONG" " ":P
1840 VDU2R,18,24,39,8:PROCers

1830 VDU 2¢

18560 ENDPROC

{870 BEF PROCaodityp?

1880 CLS

1890 YDU129, 157, 135:PRINT"LITERACY BEHAVIOURS-TUTORE UPDATE"""
1900 FRINT“Please enter the 1D number of the® "“student, [f this is not known, please®

1910 FRINT"enter the nase of the student as it"'“appears on the last L.L.P."""Then press RETURN®'
[920INPUT ID$:1F ID§="HISS® RODTO 2020

1930 p3i=0PENUP("p3" ) :PTREpIN=0:1enqthp3%=BRETIp34: IF VALILEFTS(IDS, P OOR VAL(RIGHTS(ID$, 1139 GOTO 1930
1940 StudIDZ=VAL{ID$1:G0T0 19%¢

1950 FOR J%=1T0117+# {1eagthpdi-1)+1 5TEP 117

1960 INPUTEPL,1d¥,namedr IF naped=I1D%:StudIDY=VAL (id$)

1970 IF StudlDu<»-99% GOTD 2000 ELSE PRINT®Record deleted®:BOTO 1920

1980 NEXT JL:PRINT"No such name on record®:&Q70 1390

[R90PTREpIE=1174#(Stud1D%- 1)+ 1 INPUTERSY id$: IF VAL(1d$)=-999:PRINT"Record deleted":GOTD 1900

2000 p7i=0PERUP{“p7") :PTRERTY=1414% (StudIDY-1)+3: C24=BEETER7%: IFC2Y=0 G0T02020

2005501 1mit=501ipi 14024 : PTRER7Y=PTREPTI 4748

2010 FOR d¥=13T0SC1imit: INPUTERTY [ SCarray${JY):HEXT J1

iine{zl, l-‘}"

20206 $47B01=1d$:CLE: VDUL2Y, i-/ z:;,PPIH?“ITTE ‘ALY BEHAVIOURS-TUTORS LFDATE® "
2030 FRINTDa you want tc:®
2040 PRINT®  Add nes"CHR$(133)"Voluntary/Personal ™' contexts for your student 7%

2090 PRINT"f1- YES®'

2060 PRINT®2- NO*~

2070 PRINT"Please select option using the RED KEYSanly®:d=GET

Z0801F J=49 PROCnewcon:BOTOZI00

2090 IF J<»30 PRINT “Typing error “:J=BET:G0TO 2080

2100 CL8:YDUL29,157,135:PRINTLITERACY BEHAVIOURS-TUTORS UPDATE" " "“Do vou want tor*'"'
2110 PRINT" Bive new literacy behaviowr *° ratings for your sfudent.”’

2120 PRINT®#1- YES®

ZIS0PRINT $2- NO*'

2140 PRINT"Please select option using the RED KEYSonly”:J=GET

2150 IF J=49 FROCratings

2140 IF J=50 PROCsend

2165 AY=2:CHAIN"HENL2®

2170 PRINT"Typing error - try again !":B0TD 2{40

2180 ENDPROC

2190 DEF PROCratings

2200 CLS

F210 VDU 132,157, 135:PRINT LITERACY BEHAVIOUR RATINGS UPDATE®

2220 PRINT" '"Resember that a rating is given on 2" “scale of 1 - 4 for a students ability®
2230 FRINT®to perfora an expected reaction to a"'"literacy task in a given sorial context.”;
2740 PRINT"Betore giving 2 rating therefore, it is™ "necsssary te selech:®’

2250 PRINT®! -The expected reaction{i-8}%"

2260 PRINTYZ -The social context{1-121"

2270 PRINT "After the next kev press, two" “rectangles will display ootions for”®

2280 FRINT"selection which can be changed by vsing® "thefl1/42keys.”’

2290 FRINT"Once the apgropriate®CHR$(131)%social context "CHR${135) "and®

2300 FRINT"expectad reactionhave been set, press® "“RETURM to enter the rating.®

2310 PRINT " (Press anv key to go onl”;:J=GET:FROCpresent

2320 J=GET
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ENDPROC

(i DEF PROCpressnt
} VBU26,12:PRINTTAB(O,0) :PROCFrame(147,24,135,4)
t FRINTTAB(O,11)1"8elect iteps uzing ®: FHP$=1L Py T/ E24CHREQIIE); S keys,”

FRINT“Press RETURN to give new rating.”

0 PRINT"Fresst3vhen finished.®

VDY 28,6,28,27,17:PROCrane(146,24,135,8)

2800 VDU28,12,16,39,10:PROCSrane(i00,4 1_5. b rYDU26: PRINTTARIZT, L2 LEFT$ (Barray$ (BELERYD) | 1)

9 IF J=530:E

PROCSCtext:PROCERtext
J=6ET .
IF J=89:8C%=SCA+1:PROCSCEext:VRL Z6:PRINTTAB(SS, 120LEFTS (9arrays (SCE,ERA) 1)
RY=ERYL+1:PROCEREext: VDU 26:PRINTTARIIS, 12)LEFTE (Barray$ (SCH ERY) 1)
IF 1=51:FROCsend

IF J=13:VDU24: PROCGet (SCH, ERY) : 6OTO2350

60702420

3¢ ENDPROC

25300
2510
2520
2530
2540
7530
2540
2370
2580
2390
2600
260
2820
2530
2540
2650
2660
2470
25680
2690
270
2710
2720
2730
2740
2730

0 DEF PROCgetia, b}

PRINTa,b

£Ls

YOU 132,157 135 PRINT LITERADY BEHAVIOUR HAT:dF: lippate®

PRINT " "Behaviour seiected is the ahility

IFB<>3 FRINTCHRE(1301;LEFTS{ERarra ;$fnl,33) CHR$ (130} ;RIGHT$(ERarray$ib),22)

IF B=3 PR!&TEHRﬁ!lSQE;LECTE(E‘arra“$(b3,4\3’LnRza;aﬂ) HID§{ERarray$ib) 23,201 "CHRE(120); RIGHTH (ERarrays (b}, 20}

PRINT "In the context of

IF §CE{13 PRIN TEHR$€111i.LEfTi(SCarrayf al, 211 'CHRE(131) ;RIGHTS (BCarraviia) 21}
IF GC1312 PRINT'CHR${123);S8Carray$lal; "CHRELIISMY {Uray®}"
FRIKT'“Please enter a rating i-4 on the scaley”

FRINT'®1 - Beginning only®

FRINT®2 - Barely competent®

PRINT®Z - Buite qood®

PRINT"4 - Gkilled™”

PRINT®Enter rating and press RETURN":VDU28,0,24,39,21:Ci5: INFTrate$

IF YAL{rate}i{10R VAL{rate$) :4:PRINTCHRE1131) "Typing error - try again (1-4 only)®:INPUTrate$:CL5:60T02430

ratefsrate$+"-"rBarray${a,bi=rates$

ENEPROC

DEF PROCRewcon

CLE:VBUI33, 157,133
PRINT"VOLUNTARY/FERSONAL CONTEXTS UPDATE®"

IF £27=0 PRINT"As vet, your student has noVoluntary/"'"Personal Contextsadded to his file, ®:50TD2780

PRINT"Here are the Y/P contexts already® “added to your student’s file:®
VDU 28,0,13,39,5

FOR J3=13 70 SClimit:PRINTCHR$ (133} 18Carray$ (0} " #;0%:1F J4=19 OR J%=20:PRINTCHR${129!"Fresc any key to go on.

HEXT J%:PRINTCHR$(129)“Press any key to go on,®:J=GET:VDU26:CLS

2T60YDUI3Y, 157,135

2770
2780
2790

PRINT*VOLUNTARY/PERSONAL CONTEXTS UPDATE®'"
FRINT "You can add up to 2 lisit of 20 °'"V/P Contextsfor your student.®
PRINT"This means you have ";32-5C1imit;" left.”

2800 FRINT "Hote that you must restrict the title®'"of newV/P Contentsto 30 characters” ' "including spaces.”

2810

2820 VDUZR, 3I,17,35, 16 INPUTE t1es: IF ‘EthltlE§??3§:PRIN!"TDD feng '"'*Press any key to try again”

2830

FRINTTAB(0,13) :PROCFrane (151,33,133, )

1J=BET: CLE:B0TO2820

"eJ=pET:CLS

IF title$="END"ORtitle$="End"ORtitles="end"ORtit1ef="ald"ORtitlnt="enD "OR i t1o4="CNd"ORtit1e$="eND"ORt it 1 e$="EnD "GOTO2E70
2840 SClipit=5C1ipit+1s1F GC1imitY32:PRINTCHRE(I291"S0RRY! 20 is the lieit" "Fress any key to go on®;:J=BET:R070288¢

2845 REPEAT:titlef=titles+” ";UNTIL LEN({titlet)=30
28005Carrays (SClimit) =titlef: Ni=Ni+]
2860 5OTO 2820

2870 VDUZ6:CL5:VDULIS, 157,135 PRINT VOLUNTARY /PERSONAL CONTEXTS UPDATE®

2880

PRINT "Herz is the list of "CHR${132)*V/P Contests naw® "filed for your student:®’

2890 vDuZ28,0,24,39,5:FROC istcon
2900 ENDPROC
2910 DEF FRDCiistron



7920 FOR Ji=13 70 SClimit:PRINTCHRS 11333 ;5CarrayS (0N} sCHRE(IDE ;Y (Pridy™)®
29301F J1=1% GR JU=25:FRINTCHRS 1129) "Press any ey tP go an. ":J=GET:LLS
2940 NEXT JE:PRINTCHRSLI29)"Press any key to go on. "tJ=BET:VDU26:0L5

2950 ENDPRAOC

2960 BEF PROCsend

2970 PTREpTI=1415%(5tudiD¥-1)

2980 R £ no L2 rows to add skip o next section
2990 IF Hi=0 BOTO 3140

3000 REHMess Beguence io write neo cf row titles to g7
J010 REM #5303 is e e s d R onasnasdsdsRad s 45000545349
3020 FTRLpTU=FTREPTESS

o
=
B
Lam)

BRUTEDTY, C2UNE

3050 FTRLp7i=PTREpTL+7A8(C24232)

304¢ FOR JU={24C20+ 170124021 4MY

3670 PRINTEpTL, SCarray${di)

3080 NEXT &

090 FIRLp7i=1414% (StudiDi-1}

T100 REM #a5sdddia st e bubbanshansbanasnhbussaysnssasd

3110 REH

3120 REH Sequence to write Barray$ elements to matrix flags.

3130 RER

3140 FTRLp7U=PTREpTI+H

3150 FORJY=1TO32:FOR 1%=1TG4

3152 JF Barray$!{dh, 12)="00":PTREpTZ=PTRER7E+4:60T0 3250

3170 flag¥=LEFTH{Barray$(J%, i}, 13409"

3180 PRINTEp7i,f1ag$

T250 NEXT [LLiNEXT J%

3235 7%7BA0=C2%+NY

3256 s20=0PERUP {("s2") :PTREs2Y=140% (StudID%-13 +4: BPUTES2Y  C2U+NY
J2H0CLOSEE0:VDURA:CLE PROCChoi e

70 EXDPROC

1620 DEF PROCchoice

3640 CLS: PRINT''"Do you want to:*'’

3030 PRINT*#1 - Bive new ratings for SKILLS 7°°

3680 PRINT®2 - Print out a LITERACY CURRICULUN®"" PRAFILE 77"
3670 PRINTYPLEASE SELECT USING®;CHR${1291;°RED KEYS®;CHRE{133);°ONLY":
3480 IF 1=4% CHAIN®TUTOR-S*

1590 IF ¥=30 CHAIN®LLP®

3700 PRINT'CHRE{134); *Wrong key pressed ! - Try again”;BOTD 3670
3710 ENDPROC

.| 1ed Gl Led

13"!
Al




LOAD* TUTOR-E"
SLIET

10 HOBE 7

20YDUZT; 82025 03 030

0SKEY 10 DLD!HRUNIH

B0VDUZ6, 12

50 #XEY1®L®

B0 BKEY 2027

70 KEY 3430
i RKEY 4040
SKEY 550
10 DIR SKILLSS(14):FOR J%=1T0tA:READ SKILLGE(
110 CLS:FRINTEHRS(129)®  LITERACY 3KILLS N
120 PRINTCHRE{129) 3" —mmmmmmmmmmmmmmemeemee e

c1vuen

1}l

;070270

130 PRINT """ ""Do you want tor®’
140 PRIBT®4! - Have nore info on literacy skilis®'
1303 PRINT"f2 - Update the skill ratings of a*"" student 7%
135 FRINT™I - Heither. Escape to Tutor Hemu,'' ™'
160 PRINTCHR$ (129} " SELECT USING RED KEYS ONLY®
1706 J=BET:IF <49 OR J:51:PRINTCHR$(129):"Typing arror - try again®:BOTDI70
i8¢ IF J=30 PROCmodifyps
185 IF J=BLipt=7:TRAIN"HENUZ®
190 VDU 28,0,23,39,5:008
200 FRINT®Process levels are ¢°
210 PRINT"--mm oo e
220 FRINTCHRE{136)"f1 - Auditory/Visual Feature Extra
30 PRINTCHR{134);°43 ~ Decodinp®
240 FRIHTEPR$113'-'“’4 - Using Legical ﬁnmur¥"
230 PRINT® f3 - Use this key for further®’ explanation of the ides of sk
260 PRINTCHRE(129); *Pleaze select red keys only for further®;CHRE(129)%s;
270 J=BET:IF J¢4% DR J>33 PRINTCHRE(129)3"Typing error - try again®
280 IF J~69'gcn1-146:tto}‘i10't"- gi=" { - A7V FEATURE EXTRACTIONT

290 IF J=G0:grol=147:tcol=131:titled=" 2 - ENCDDING®

300 IF Jd=5ligrol=150:tcol=134:tit]ed=" 3 - DECODING"

30 IF d=32igeoi=i4%:toal=i33titled=" - USING LEYICAL HERMORY®
326 IF d=33:VDU26: CLS: FROChe]

330 PADCSrameititie$,teol,grol)

340 DATA"! - Sound input disc.skills®

20 DATA®2 - Vis. input disc.skills®

I50 DATA®S ~ Hotor control abilities®
370 DATA®4 - Gingle letter recoonition®
IB0DATA®S - Letter group recogrition®
390 DATA"S - Sub-array recognition"

400 DATA®7 - Array recognition®

410 DATA"B - Sub-array Phon.Translation®
420 DATA"9 - Array Phon.Translation®

430 DATA"{0- Array artirulation®

440 DATA"11- Sub-word Fhon.Translakion®
430 BATA"12- Hord Phon.Translation®

450 DATA"13- Spelling pattern checking®
470 BATA"14- Hord articuolation®

480 DATA"13- Lexical access/retrieval
490 DATA"16- Use of context evidence”
300 CHAIN“RENU2"

al0 END

330 DEF PROCYe

540 LB

330 FRINT"Visual/Auditory Feature extractionis the proc
SLOPRINTY1s able to distinguish betwsen :*''%  differi
370 FRINT®  written language or®''"  differing sounds

n

855
g
H

i

by which a person®
parks znd symbols in®
speech,” "

splanation of skil



380 PRINTCHR${129);"Press any key Lo go on"iJ=GET

590 ENDPROC

640 GEF FROCenc

610 LLE

520 PHINT®Encnding is the ess by which aperson is able to recognise a
630 PRINT"distinct mark or sy bcl in Hrzttenia‘quaue 2g belng a previausiy®

BAD FRINT"hnown letter or comnon group of”""letters.® " "'CHR$1129);"Fress any kevy o go on
30 J= EE

h&0 END

570 BEF PRDEdaz
6B CLS
690 PRINT"Decoding is the process by which aperson is able to malch a letter®
700 FRIRT"or oroup of letters in written®'“language to the eguivalent soLnd:“
710 FRINT?in speech which they are intended” *to represent, or vice-versa.
720 FRINT' "' 'CHR${12%)"Press any key to continue®:J=GET

730 CLS:FRINT"1n addition it ieplies the abilitylo aseign the correct st
740 PRINT"group of letters so that they can®'"be corractly pronounced as
730 PRIKT"Note that Decoding can accur priorio any understanding of MEARI
7h0 PRINTCHR${129)"Press any key to continue®:J=GET

770 CLE

760 FRINT"Note the follosing definitions® "of teras used at this lavel:®
790 VDU 28,3,71,34 9

H

800 FBIHT'“ éRRﬁY - a group of letters" “racognised as a separate upit®

BlU PRINT"to shich no meaning has as yet"'* been assigned from lexical eesory”

820 FRINT'"  SUB-ARRAY - a group of lettersforsing part of an array®
GIOPRINT"CHRE (1291 °Press any key to continue®:Jd=BET:CLS

BAOPRINT®  MWORD - & separate group of ""“written letters or a distinct®

B30PRINT "scund in speech to shich @ meaninghas been assigned fros the"'‘lexiral semory.®
BAOPRINT " SUB-WORD - a group of lettzrs®'"or a sound in speech forsing part of a WORD,®
G70PRINT "CHR$(129) *Press any key to continue®:J=6ET:CLS

fa0
BOOFRINT®  PHONEMIC TRANSLATION - the®'"ability to render written letterc®
QOOFRINT"or letter groups into their®'"egivalent sounds in speech and®'vice-versa®

FIOPRINT'®  ARTICULATION - the ability to"'"give the correct stress in the” "pronunciation of a HORD or an® "ARRAY,"’
Z0PRINTCHRS {129 "Prass any key to go on®iJ=GET2 VDU 28,3,21,34,5:CLS

FI0ENDPRAC

940 ENDPROC

930 BEF PROClexm

940 CLS

970FRINT Lexical memory is the part of the® "mesory in which a person "siores’meanings which correspond to
FBOPRINT"either speech sounds or written® “letter groups that are Hords.®' 'CHR$(129)"Fress any key to geo on®
990J=RET:CLE

L0DOPRINT"Hote that a person using literacy® "skills may arcess lexical meaory

LO10PRINT "directly frap any of the three" “other processes. This depends on®

1020PRINT"the relative difficulty of the"""literacy task and thn ability of"

TO3OPRINT tha person involved® """ "CHR$(129)*Press any key to go on®

1040 J=GET

{050 ENDPROC

1066 DEF PROC#rame{title$,tcol,geool}

1070 VDU 26,12

1080 rRrNT“ﬂﬁffliq -IHR¥I15‘) ;CHRS {13 51:‘SPIix PROCES LS - CHECKLIST® ' ";CHR%{tcol) titled

1090 FRINT'CHRE(grald g7ttt e v YDA

1106 FOR J%=17D1B:PRINTCHRS (geol ) 537 CHR$135; ":CHA$ (goold " it VDHLLINERT:VBULY

1110 FRINTCHRS (gooldy® 770" Prrrrrrr TTUTITITTRr iR TARLG, )

1120 VDU28,3,21,36,5

{130 1F tcol=130 PROCHe:PROCet{1,3):VDU2A: RUN

1140 IF tcol=131:PROCenc: PROCAet (4,5) :VDUZA:RUN

1150 IF tc ol 134:PROCdec: FROCdet (4,100 FROCDet (11,140 VDU24 s RUN
1140 IF tral=133:PROCI2xm: PROCAeL (15, 16) : VOU2E: RUN

1170 J=-E



0 ENDPROC

1312 COL=134 ELSE IF Q%6 COL=131 ELBE COL=130
"1CHRE(135)

25 W:XT d/
1250 VDU 28,3,23,24,0
279 FRINT'®{ - A/v FEATURE"'®  EXTRACTIONY
il PRIHT""“E - ENCODIHG®
290 PRINT "' ''"3 - DECODIHG"
G0 PRINT "4 - UGING LEXICAL®'"  HERORY®
0 VDU 28,28,24,39,0
FRINT®Dn the left"'"are shown® "the four” “different”’”levels cf”’“gru:essing”'"that pceur” " Min reading” fand writing?
1130 PRINT'""Each is saidto representa depth of"'“processing®"*which nay®'"or aay not®'*be reached™'"in reading® "and writing®
1340 FRINT 'CHR$(129)B04: I=6ET CLS
1330 FRINT®A person mayhave to go®'“through all®"*the first" " “three depthshefore®
1335 PRINT"reaching themeaning via® CHRE{133)"laxical®™” f‘HFc‘t 1331 pemory (41°
1360 FRINT' ' "CHR$(129)60%:J=6ET:VDULT, 13:PRINT®
3 VDU 26:FOR Ji-0T0i8
IFdi=1 ORI%=2 DRJX=7 ORJY=13 ORJL=19 ORIL=20 GOTO1400
1390 VD}HTTQB.-Q;J/} CHRE(124) 1 PROCka1E (600)
{400 MEXT g PRIPTTA°(27§22} FROCwait (30000}
1410 FOR J7=23T00STEP-1
1420 IF Ji=10RJ%=20R J%=70RJ%=130RI%=190RJ%=20507D1440
1430 PRINTTABULOLJX) ;" ":PROCwait (60Q)
14RO NEXT J

P50 VDU 2B,26,24,39,0:PRINTTAB {1, 19) 1 CHRE(129) 60§ J=BET: LS

L4h0 PRINT"However, i1%'"is pos :1ble“ * that a"'"person may®"arrive at® ' “peaning” "directly viaonly one or® “two of the®

1470 PRINT"first three® *levels.” *ie: directl viropa";CHRE(130) : "level lavoiding theneed to °

1475PRIRTCHRE (13 "encode® ,CHR&!l’S);“ar "3 CHR$(134) “dacode™

1480 FRINT CHR${129)60$:J=BET:VBULL, 13 PRINT® !

1490 VDU28,3,23,24,0

{500 PROCIink {130, 1):VOU 28,28,24.39,0: FRINTTAB{L, 19 ;CHRE {1291 B0 I=BET1CLE

1310 PRIKT"Or, a personmay go from® CHR*(!?U)"Ieyel L, " *throegh" 'CHRE{1Z1) "lavel 2°

1515 FRINTCHRE(133) "andthen ta"’CHRi(iSZB“lexicalﬂ'EHR$(‘*”) "meaory  "CHRE{135)¥50" ""avniding theneed to "'CHRE(134)'decnde” “ies®

1520 PRINTCHRS(129)50%: J=RET: VDULY, 13:PRINT® "rYDUZR, 3,725,240

1330 FROCYinkil31,7)

1540 VDU2B,28,2 ,‘.,0 PRINTTAR{1,19);CHR$ (129508 J=6ET:CLS

1530 PRINT®The depth” ®and the®’ ”coabxnatxnn of "'"processing used dependson the" "diffizulty of the task” “and the """ability of

{560 PRINT"the parson® “involved.®' "CHR$(!129)50%:3=6ET

1570 CLG:PRINT"Generally® “speaking,” "“the more" "skills a" *person has"'“available®'“at each of" "levels {-3," *the sore®
1580 PRINT"#loxwible andpowerful®"will be his® ®or her®'“response to® “any given®'"literacy®’'"task.®’ 'CHR${12%)50%:d=GET:RUN
1590 ENDPROC

1600 DEF PROCLink(col,line}

1610 IF line=7:FOR J%=3T06:PRINTTAB{10,d%) " ":PROCwait (A00) s NEXTIL: GTART=12ELBECTART=13

1620 PRINTTAB(START,line);CHR$(col) ¥====?

{630 FOR J¥=line TO 1&:PRINTTAB{START+4,JE+1)CHRE (col) )" :PROCwait (001 1NEXT %

1640 FOR JU=BTART+3T09 STEP-1:PRINTTAB(JX,17)CHR$tcol) "=":PROCkait (600} :NEXTILPRINTTAB(JU+, 181 ¥ "1 PROCRa1 t {30G00)

1650 FRINTTAB{9,1B)" ":FOR J%=9TOSTART+I:PRINTTAB(IL, 171" “:PROCwait {4003 :NEXTIZ

1668 FOR J4=17T01ing+1STEP-1:PRINTTAR(START+4,34)"  “:PROCwait (600} :NEXTIL:PRINTTAB(START  1ine)® *

{670 IF line=7:FOR J%=£T03 STEP-1:PRINTTAB(10,J%1° ":MEXTH

1680 ENDPROC

1699 DEF PROCmaititine)

1700 FORIZ=170tine: NEXTIY

1719 ENDPRAOC

1720 DEF PROCdet({start,finish)

1730 CLE



1780 PRINT®Gkills at this lsvel are:®’’

1790 FOR Jd%=start 70 finish:PRINTSEILLSS{3Y) (BEXTY J%

17601F J%=11;FRINT CHR$(134) "These would be used in READING®
1776 IF d4=153:PRINT CHR${(134) "These would be used in ¥RITIHG®
1780 PRINT'CHR$(129) "Press any key to continue":J=BET

1790 ENDPROC

LB06 BEF PROCmodifynd

1818 YDU26:CLS

1820 DIH Sarray(1f)

1825 FORIL=1T016: Sarrays{Ji)="--":NEXTIY

1636 FRINTCHRE (129);"LITERACY SKILLS - HALCH UPDATE SEQUENCE":VDUiL
1840 FRINTCHRS (129) 3 #mmmmmmmom o omem i mm oo '

{830 FRINT® Please enter the ID nupber
18460 PRINT enter the name of the s
1870 FRINT"Than prass RETURN®':1

of the® *student.

INPUTIDS: IF iD§="HISE* GOTD 193¢

If this is aot knoun,
tudent as it “appears on the last

non

£ol=i30

11;CHRE (el IFDY

M
asg’

ple

LC.PY

L1DE; 1) GOTE 1900

uEieietl o gud

=30R4L=50RIL=14 PRINT

1883 p3X=0PENUP{*p3"1:PTREpI%=0:1engthp3A=BBETEpIL: IFVALILEFTE(ID$, 1)) 4108 VALILEFT
1890 StudID¥=VAL{ID$):E0T0 1940

1900 FOR JY=1T01175{5tudiDy-1)+1 BTEP {17

1810 INFUTER3E 1d¥ named: IF name$=ID4:5tud[DE=VAL {id$)

1920 IF Stus0%=-999 PRINT"Recard deleted®:BOTO1850 ELSE GOTO 1950

1930 HEXT J4:PRINT Ao such name on record”:6OTD 1830

1960 PTREDIZ=1172{(StudIBi-1)+1: INPUTEDIE, 105 IF VAL (1d$)=-999:PRINT"Record del
1950 $L7B01=1d%:CL5:PRINT Select skill with space bar & RETURN®

1960 PRINT®---mmmmm e oo mmmmo oo oo e s

1970 FOR 34=1T014

193¢ IFJEr4 col=133 BLEE IFXUE col={34 ELSE IF JU33 col=131 ELSE

1990 PRINTCHRS {col)jSKILLES(JY) ; TAR (2 ICHRE 11350 s LEFTS {Barrayd (31},

2600 KEXT 3%

2010 CﬁIﬂT *frass 1 to put these ratings on file"

2020 pos=Iiidi=1

2030 PRIHTTQBiSb,gnsEEHR%(136)“[“;idi

2040
2030
2040
2070
2080
2090
2100
2110
2120

§=BET: IF J=32 :PROCzove:B0TO 2040
IF J=13 FROCgat: 60701950

IF =89 FROCsend:CLOSELS: PROCchoice
GOTO2040

ERDPRAC

DEF FROCmove

pos=postiidi=iaqil
PRINTTAB{36,pos-1);*  °

IF pos=tORpos=%0Rpos=1%:pos=post!
2130 IF pos=22ipos=liidi=i

2180 FRINTTAB(36,pos) ;CHR$(136) %% 141
2150 ENDPRGC

2140 DEF PROCget

2170 CLS:PRINT*SKki1l selected isi®"”
2180 TF id%>14 col=137 ELSE IFid%3S
2190 PRINTCHR$ {col);SKILLES{idH)
2200 FRINT '"Please enter new rating for student as®’ '’
2210 PRINT *HB: | - Beginaing anly®

2220 FRINT * 2 - Barely competent’

2230 FRINT® 3 - Buite good®

2280 PRINT®™ 4 - Skilled":INPUT “Enter rating and press RETURN®S

2240 Sarray$(idi)=ratef+"-*
2270 ENDPRAC

2280 DEF PROCsend

2290 pSY=0PENUP{*p3*)

2300 FYRLpSE=£9#% (StudlDi-1143
2310 FOR J%=17014

! 1 to 4%

‘rates
2250 IF VAL(rate$)Z10R VAL(rate$) >4:PRINT 'CHR${1291*Typing error: | to & only

¢ol=134 ELSE IF {d753 col=131 ELSE col=130

please®:GOTO 2200

2320 IF Sarray${JU1(2"--":Flag=LEFT${Sarray$ (JL) L +79 " PRINTLPEY, Flag:G0TO2370



2330 PTREpSIPIREpSLH
2370 NEXT 2

2380 ELS:FRINT“Student skill ratings nos updated®’ """ ‘'CHR$(129) "Press any key to continue

2390 ENDPROC

2650 DEF PRGCchoire

2700 CLS: PRINT"Do vou want to®'' "'

2716 PRINT fi - Give new ratings for BEHAVIDURS 777

2720 FRINT"$2 - Print out a LITERACY CURRICULUMW®"“ PROFILE 787"

2730 PRINT® PLEASE SELECT USING";CHRE!12%);*RED KEVE";LHR$ (135} "ONLY" 1 {=BET
2780 1F ¥=49 CHAIN“TUTOR-B®

2750 IF 1=50 CHaIw®LCP"

2760 PRINTCHR$(134);"Urong key pressed ! - Try again. ":G0T02730

2770 ENDPROC

"1 J=BET



LOAD"GE®
SLIST
10 HIRER=7800
35 Date$=$47B20:check=0:CL5
60 REPEAT
BS INPUT*Enter password and press RETURNT™' 'coded
110 plA=OPEHUP{"p1"}
135 PTREp1%=0:5upIDY=HEETEDLY
160 INPUTER1L,Supnames, lastdated
185 O$="HUGD"+5TR$ (SupIDY)
210 IF code$=0% GOT02835
235 PRINT"Sorry! Invalid password -try again®sCLOSEEpii:icheck =check+!
260 UNTIL check>3:PRINT Ton sany tries®:CHALINBENUZ®
285 p2U=UPEMUP ("p2*%)
310 PTREp2%=0:nonftutorsi=BRETEP2Y
335 p3i=0PENUP{"p3")
360 PTRLpIZ=G:noofstudsi=BEETLp3%
I85 DBIM TID${noottutorsi):DIfTnamed (nooftutorsi) :DIHTIastdated (nooftutorsy
410 DIB SID%(noofstudsi):DIN Sname${noofstudsi):BIH Slas *éntexxnnsfsiudsll DIH Slastnoi(noofstudsyi:DIA TubtIDi{nootstudsi)
435 BIH Coursed (noofstuds®)iDIN SWarrayiinoofstudsiy,41:0I% Biarraylinoofstudsi,32}:DIH Bi{nootstudsi}
450 DIE BweightZincofstuds¥i:DIM SeeightYinoofstuds?):BiH SC2rousi{ncofstudsi):DIN BCOLYZ{6):DIR Sleveli(d)
485 VDUZ:VBUZL
510 1inei$=5TRINGE (7D, - :1ineZ4=0TRINGS{73, =" 11 inadd=0TRINGS (124, "-") 1 1ine48=CTRINGE {124, "=")
333 1ined$=BTRINGE(64,7-"111inebd= STPINE?\&%,P ="}

a0 VOUL,14:PRINT® MEW COLLEGE, DURHAR - 4,B.E. LNIT®

385 VOUL, L4:FRINT® EREBEFERRREER MR R B AR R ERRERY
H10 VDU §,14:PRINT®  HALCH SYSTEM (COPYRIBHT J.A.Byrne 19B3}™
633 VDUL, L4:FRINT® SUPERVISOR SURMARY® ™"

bel VOUL, 14 PRINT Supervisors  (%pSuplDiz®)":Supname$’
653 VBUL, 14:PRINT"Date: ®jDated’

685 VIU I 14:PRINT"Date of last 8.8.: ‘"lastdate’

716 PRI HT“*t&itﬁ**fff&f#il*&;if;16;~§§@ﬁi*f***i****i:éxﬁfiis;;1g:§§:¢af§sisgipaarziifif*fiﬁefiffﬁsfﬁfﬁﬂ
735 PRINT''"TUTOR SUMMARY®'"---r----eeomm- o

ThO VBUL, IS:PRINTLine2$

785 VDUL, 15:PRINT"TUTOR 1.D.£:1";*TUTOR'S NAHE:

BID VUL, iS:PRINT"DATE OF LABT LCP: "
B35 VDUL,15:PRINTIine2S

840 FOR JU=1T0 nooftutorsi

BBS INPUTLp2Y,TID$ (3L}, Tname$ (JL) :PTRIp2E=PTRER2YL+1: INPUTERZY, T astdated (J1)
910 NEAT JL:CLOSEERZY

935 FOR J%=1TOnooftutorsi: IF TIDS(JX)="-999" BOTO 983

9a0 VBUL, 15:PRINTTIDS{0U) ;" 1%y Tnapes {04131 Tlastdate ¥ (32 " "1 PRINTLineld

983 NEXT JLiPRINT

1610 PRINT"STUDENT SURRARY®'®-----=-m-mwommn a

1035 VOUL, 15:PRINTI inedd

1060 VDUL, 15:PRINT IDE: 75 "STUDENT 'S NAHE: " “DATE OF LAST LLP: i
1085 vpUl, 15:FRINT®NO.OF LAST LCP::°;"TUTOR'S IDLI"; *COURSE: v

1110 VUL, 15:FRINT] ined$
1135 PTREp3A=1

{140 FOR J%=1T0noofstuds?,

1185 INPUTERSY,S1081J%),Snane$ (31}, 51 astdated (30),Slastnald%)  Tut D47 :PTREDIL=PTREDTL+S
1210 INPUTER3Y, Course$ (371 1NEXT 1%

1235 CLOSELp3L

1280 E7=0000

1260 FOR J34=1T0 noofstudst: IF SID§(1%)="-999" BOTO 150

1285 VUL, 15:PRINTSIDS (220 ;" 1"; Snanes (3413 %1 *; Sl astdates (300 ;"1

(310 VDUL,I5:FRINT®  ®;5lastnof{J%);

1335 IF Slastnal(J%3¢10 PRINT® AR

1360 IF Slastnof(3%)3% AND Slastno®{J11<100 PRINT" P

1385 IF Slastna%(J%1399 PRINT® o




PR30 ¥OUL L5 PRINT® % TutIDE(d%),

1435 IF TubIDA4JZI<10 PRIRT® 1

1460 IF TutIDZ{J%) >3 AND TutIDZ{JU)<L100 PRINTY e
1485 IF TublDA(J%) 299 PRINT® s

1510 VUL, 15:PRINTCoursed (i) @it

533 YDUL,15:PRINT ineds

1540 HEXT Ji%

1585 PRINT' '°M.B.: Individual LCP's
1610 FRINTThis is available froe th
1635 REMW eodifyplial

{660 FTREp1E=33

1485 FRINTIntY, Datsd

1716 CLOSELpiY

1735 REMSGSRssaassonaRooEanaasanrasssss

1760 hashsli=26:hashs21=168

1785 REH Produce LPA

{810 REH

1B35 REHSHIARESFEEEHERIHERERRRATIEDEEE

[Bah s1/=0PENUP{*s1")

1885 FOR Ji=1TOnoofstudsi: IF SID(J%)="-999" EOTC 2610
1910 PTREsii=hashsiiaidi-1144

1935 FOR 1i=1704

1960 INPUTESLY, SHarrayd (34,17}

1785 NEXT 1Y

2010 MEXT i CLOSEfs!
2035 s2%=0PENUP (*52%)

20560 FOR J%=1TOnoofstudsi: IF SID$(JE)="-999" GOTO 2235
2085 PTREsZi=hashs2i#{J1-1)+4
2810 SC2rous¥i{34)=BRETES2Y
2135 FOR 17=17032
2160 INPUTES2Y, BHarravi (J%,1%)

2185 HELT 1%
2210 BY(JY)=BEETLs2Y

2235 NEXT JA:CLOSEfs2Y
2250 REHEHEREHGAESEEEEEERRNEFERERIHERE

2285 REH
2310 REH Calculate overall weightings for LFA
2335 REH
23460 REHEHE#SEERETR5 0B REERETHEEEESE

2385 FOR J7=170 noofstudsl:IF SIDE(I4)="-999" GOTO 2440
2410 Speighti{J1)=FHcalcS{d7)

2435 BueightZ(J1)=FHcalcB{dl)
2850 MEXT 34

Hain Henu®:VBULZ

2485 lineGd=GTRINGS (04,"-"}11ineb$=CTRINGS (64, =")1hlank3Z$=5TRINGS(53,"

2300 VDU 1,18:81=10

P's can be obtained for any student listed above via Tutor access aode.”
£

u

2540 FOR J%=1T0noofstudsks [F SIP$(J7)="-999";PRINT"RECORD NO. "jd%;" DELETED":BOTO 2960

2333 PRINTlined$

2360 PRINT"Student IDE: °;EIDS{JY);*1";"Student name: “iSnape$(J%);"i°

2585 PRINTlineb$
2610 PRINTblank33$; "Weightingsi®

263% PRINTblanki3s;"---mmmmmmv i

2660 PRINT®Skill Level | - Feature extraction: ? qharrAVf {14, 11 PROCspace(SHarrayX (3%, 1)1 PRINT”
ZLBT PRINT®Skill Level 2 - Encoding: 1 SWarrayi JA‘C‘)t PROCspace (SHarrayd (34,2} 3+ PRINT”
2710 PRINT"Skill Level 3 - Decoding: E;SHarray'x’(J.,,h) 1PROCspace (SWarray’ (314,311 :FRINT”
2735 PRINT"Skill Lavel 4 - Lexical Hemory Access “+BWarrayl(d¥,4);: PROCSpace(SHarrayl (34,40 iFRINT'

2750 PRINT'DVERALL SKILL WEIGHTING:

2785 PRINT*Comeon Secial contest ratings (1 - 120"

2810 FOR I%=1T012:PRINT®&"; Blarrayi (J%,1%);

2835 IF BMarrayfidi,Li}C10OPRINT®

2860 1F BYarrayl(J%,1%)39 AND BYarrayl{J%,IZ)<99 PRINT" ™

#+SpeightZ(d%);:PROCspare {Bueight X {34} 1 1PRINT’



2835 IF Bdarrayl{J¥,11)399 PRINT® *;

2884 MEYT 11

2890 IF SC2rowsk(J%)=0 GOTC 2914

2891 PRINT' ""W/F SOCIAL CONTEXT RATINES {13+1:°

2892 FOR 1%=13708C2rons/A(J7)+12:PRINT " Blarrayl (3%, 10y
2B93IF Barrayi{J%,TXMIIOPRINT" 7

ZH94IF Bllarrayl{J%,17)29 AND BilarrayZ(3%,1%1499 PRINT®
2896 IF BilarrayZ(d%,1%)299 PRINT® ¥

2900 NEXT I

2910 PRINT' ""OVERALL REMAVIOURS HEISHTING "sBneighti (%) FROCS;

2935 FRINTLinedd
2940 PRINT'"tHEXT J4
2985 ¥DU12
3C10 PRINT"Percentage” "of maxipum:®’
335 FOR percentage=100 T0 0 5TEP -2
3040 PRIKToercentage;” %
3083 FOR J¥=1T0 noofstudsi:IF EID${J%3="-999° 50701235
3110 f=FNperc(Bweightd(J%}, 1294}
3135 Y=Filperc{Sweight1(J7) 3400
S160 IF X{percontage PRINT® *; ELSE PRINTCHRE(142);
185 IF Y{percentage FRINT® "; ELSE PRINTCHR${219);
3210 FRINT" 7
NEAT JE:PRINT
3260 MEXT percentage
2285 PRINT *Student IDL: ";:@is!
330 FOR 1%=1T0noofstudsy: IF SID${J%)="-999" BOTO 3385
235 PRINTIY;
IF JY{40 PRINT®  ®; ELGE PRINT® 7y
3 NEXT JLiPRINT:@IL=10
3410 FRINT' ""This histogram gives Skill weightings and Behaviour weightings as"
34353 PRINT ‘“percentages of the maximpum possible.®’
3460 PRINT'CHRS{142);" = Behaviour weightings (max=1288)""
3485 PRINTCHRE(Z19);" = 5kill weightings {max=3400)°':VDUL2
3510 FOR d%=! 70 noofstuds¥:IF SID${J%1="-999" GOTO 3435
3533 FOR 1=t T0 ¢
3360 IF Ti=1:1F BLOIN)=17:BCOLL (120 =BOOLELTL 4]
3365 IF Ii=:1F BE(JU)=TR:BCOLY (1%} =BCOLE(IZ)+1
358% IF BAAJ0)=1%:BOOLE{I%-13=RC0LY{I%-11+1
3610 NEXT I
3R35 REXT JX
3050 PRINT®No. of"'"Students®
3683 FOR Ji=noofstudsi TO { STEP-]
JTL0 PRINT 0%;° i
3735 FOR 14=1704
3740 IF BLCOLZ(IZ)I<JY% PRINT® s ELSE PRINTCHRE(142);CHR${142);% "
3783 NEXT IL:PRINT
JBI0 KEXT J%
3B35 PRINT "Experted” "Reaction: "yi8i=1
3840 FOR er={70&:PRINTer;" U1 iNEXTer: BL=10:PRINT

3885 PRINT'"This histogram shous the number of students" "woriing at each of the £.F. levels i-4.

3086 PRINT'“'"Percentage®’

3887 FOR J%=1 70 noofstudsiiIF SID${JE}="-999" &OTH 3R91
IBBB FOR 17=1704

3899 SlevelX(1X)=Slevel1(1%)+8Harrayi(J%, 11}

3890 NEYT I

3891 MEXT JY

3892 FOR 1%=1704

3897 Sleveld(1%}=5level M{1%) /noofstudsy

3894 NEXT I

3B95 FOR percentage =100 70 ¢ STEP -3

i



vell 2600}

“reFQR JE=1T04:PRINTY FreNEXTIY

PRTNT'"LEVET

03 FRINT  '“This histogras shows the se
L

an
FRINT®nver the 4our Skili Process Lave

3907 PRINT " (HAY = 2&00)":@i=10

YBU1Z: PRINT

3 Yhba,3

; CHAIN"HENY2®

BEF FHperciah}
LACAL 7

D P=a/ing/100)
135 =F

DEF FHralcE(d%:

83 LOCAL »¥,level

L
FOR level={T04
wh=ni+S¥arrayiidi, level}
b HEY¥T jevel

3 =INT e/

} DEF FhralcB(d%)
LOCAL #¥,row
FOR row =1T0124802r nwsi (37}
o gh=xi+Barray? {3, ron)
NEXT row
=x i/ (12480 2rons? (31N}
1 (BLIN -1

G o=l

DEF PROCspace (numberl)

IF nusber?{i0 PRIRT® s

G IF numberi:? AND number%{99PRINT" "
3 IF nuaberi:99 PRINT® "

0 ENDPROLC

{I§7* "t ELSE PRINTCHRS(L42):CHRS(142);THRE (1421 1 CHRS

percentage weightings for the student growp®
I5



LoAD"SDOL "
SLIST
i HIMEH=%7BOO
2 Date$=$47R20
o oeKEY 1"1°
B sKEYZYD"
16 CLS:FRINTCHR$(129) ;CHRS(157);CHRS (135" ADD / DELETE TUTOR FROM FILE™
20 PRINTCHRE(1291;"Do you want tor®”’
30 PRINTCEL - Add a new tubor tu the file 797
40 PRINT 2 - Delete a tutor from the file 7'
30 X=GET:IF X{49 OR X330: PRINT"TVYPING E£RROR ' - TRY AGAIN":GOT030
60 IF ¥=49 PROCcreatap? ELSE FPROCdeletap?
80 CHAINHENUZ®
100 DEF FROCcreatep?
ti¢ LOCAL Name$,noefdelsy
120 p2%=0PENUP{"p2")
130 PTREP2%=0:1engthp2i=RBETEn2Y
140 IKPUT*Type in the tutor’s nase® “Then press RETURN®''Nages$
185 REPEAT:Nape$=Name$+" ";UNTIL LEN(Name$)=30
150 h1%=0PENUF{*h1")
140 FTRENIZ=Oinuofdelsi=BBETEALY
{70 IF noofdelsi=0: TutorID¥=lengthp2i+1:60T0190
180 PTRERI4=noofdelcl: Tutor ID%=BGETERIY
190 plY=0PENUP({®pl™}
200 FTREp1%=0:SupIDY=BBETEp 1Y
205 IF noofdelsX=0:PTREp27=0:BPUTLp2Y, Tuter [DY
210 PTREP2%=71# (Tutor [DE-1)41
215 Tut1D$=5TR${Tutor IDX) :REFEAT: Tut ID$=TutID$+" ":UNTIL LEN(TutID$)=4
220 FRINTEP2YL, TutID$ Names$
25 BPUTEP2Y SuplDi
226 PRINTEp2Y,Dates
230 IF noofdelsk=0 §0T0 270
280 noofdelsi=nonfdelsi-|
260 PTRERI%=0:BPUTERIY, noofdels)
270 CLOSELD
275 CLS:PRINT"RECORD SAVED AS :®*
280 PRINT"MAHE : Hame$'’
285 FRINTPIDE :*TutlD$""”
290 PRINT " "CHR${129);"Press any key to go on":¥=6ET
300 ENDPROC
400 DEF PROCdeletep?
410 p24=0PERUP ("p2") :PTREP2%=0:1engthpZ1=BGETEp2Y
4§20 INPUT"Type in the ID nuaber of the tutor®'"to be deleted from the files “““Then press RETURN® “'TutiD%
490 IF Tut1D¥>lengthp2i:PRINT®No such ID number on file '":G0T0420
300 PTREPZL=71#{TutIDX-11+1:PRINTLp2Y,"~99%"
510 hi%=OPENUP("hi™)
320 PTRER1Z=0:noofdelsi=BGETER1Y
330 noofdelsi=nootdeisi+l
540 PTRERZ=noofdelsl:BPUTERLY, TutIDY
350 FTRER1Z=0:BPUTERTE noofdels)
540 CLOSELO
370 ENDPRGC

L




LOAD*5D02"
SLIST
{ HIMEH=R7ROD
2 Date$=$k7B20
I Acti=0:lastaoZ=0:blanki=0
5 OsKEY 11"
B ®KEY2 *2°
10 CLS:PRINTCHRE(129) ;CHRS (1970 sCHRE(135) 1 "ADD / DELETE STUDENT FROH FILE®
20 PRINT "'CHR$(129)5 Do you want toe®"
30 PRINT®4{ - Add a new student to the file 7"
40 FRINT'"#2 - Delete a student from the {ile 7%
43 FRINTCHR$(129)"PLERSE SELECT USINE RED KEVE OHLY"
90 X=GET:IF ¥<49 DR ¥350:PRINT'"TYPING ERROE ' - TRY AGAIN®:GOTOS0
40 IF X=49 PROCcreatepl ELSE PROCdeletep3
70 CHAIN“HENUZ®
100 DEF PROCcreatepd
110 CLS:INPUT"Hhat is the new student’s nase”’ ‘nasged
115 REPEAT:namef=naee$+® “1UNTIL LEN(name$)=30
120 PRINT"""Hhat is the Tutor's ID number ? "'" If you don't know, enter 999 and press RETURN®: IMPUTTutIDX
130 IF TutiDi<>999 GOTO 200
123 RER  Bet the Tutor's nawe and search o2 for the 1D
146 CLS: IRPUT"In that case, what is the tutor's name ?7°'"Tutnase$
145 REPEAT:Tutnamed=Tulnape$+” ":UNTIL LEN(Tutnase$)=30
150 p27=0OPENUP{"p2") :PTRER21L=0: lengthp2%=REETLP2Y
135 REN Run through p2 until mames match
158 count=0
160 FOR J%i=1 T071#{lengthp2i-1)+1 STEP 7i:count=count+l
170 PTREpZY=d7+4: IRPUTLp2Y, Tnane$
180 IF Tname$=Tutname$: Tut ID%=count:GOTD 200
185 REH End loop - 1f no match found request new input
190 NEXT JYL:PRINTCHR${132);°No such tutor !*sCLOBEfp2%:B0TD140
193 REH Gat course name
200 CLS: INPUT*Hhat course is the student on ?°''Courses
200 REPEAT:Course$=Course$+* “:UNTIL LEN{Course$)=30
205 REM Check h2 for deleted records to be used up.
210 hZ4=0PERUP ("h2“): PTRERZY=0:noofdelsi=BEETER2Y
215 RER 1f any deleted spaces, find location, =lse get StudIDY from p3
2i8 IF nootfdels?=0 6OTO 230
220 FTRLhZ%=0: BPUTERZY, noofdel si-1
223 PTREN2Z=noofdelsi: Stud1DY=REETER2Y: GtudIDE=8TR$ (StudIDY)
228 PTRER2%=nonfdelsi: BPUTEN2Y, 0: p3%=0PENUP{°p3®) 1 6OT0242
229 REM Get StudID¥ from pd
230 p3%=0PENUP{"p3") :PTREpI%=0:nonfstudsi=REETEpIY
240 StudIDi=noofstudsi+1:PTREpIL=0:BPUTERIY, StudID%
242 Stud!DBE=5TR$(StudIDY) sREPEAT:StudID$=StudIDs+* “:UNTIL LEN(StudD$i=¢
243 REF Set pointer to correct record in pI and write new record & confiram
250 FTREpIA=117#(5tudID%-1) +1
233 PRINTEp3Y,StudlD§,nane$,Dates lastnol, TutIDY,Act’, Courses
260 CLS:PRINTCHR$(129) s Record saved as belom: "'’
265 PRINT*Gtudent IDE: “;StudiDY
270 FRINT "Name :";name$
275 FRINT *Course :"Course$
260 PROCcreatepd
290 ENDPROC
300 DEF PROCcreatepd
T05 KREM This simply primes a fresh record into p3
306 REW uvsing StudIDi. Thus any previous record
I07 REH needing to be deleted will be automatically overwritten
310 pSL=0PENUP ("p5") :PTREPSY =694 (StudID’-1)
320 PRINTEpSY,StudlDY



I30 FOR J4= 1 70 16

340 PRINTLpSL,"

330 NEXT 3%

360 CLOSELp3Y

355 PROCcreatep?

37G ENDPROC

400 DEF PROCcreatep?

410 blank$=STRINGS{30," )

430 p7i=0PERUP{"p7")

440 PTRLp74=14142{5tudiDi-1)

450 PRINTLp7Y,StudIBL: BPUTERTL, D

440 FOR J1=1706192

470 PRINTEpTL," *

486 NEXT X%

§9) FOR J¥=1702¢

300 PRINTEp7Y,blanks

316 NEXT 3%

520 CLOSEERT7Y

923 PROCcreatest

330 ERDPROC

340 DEF FROCcreatesi

985 si=DPENUP{"s1")

350 PTREs1%=262(5tud1DZ-1)

360 PRINTEs1d, GtudlDs

370 FOR J1=1704

380 PRINTEsid blanki

390 NEXT 2%

395 CLOSEfs1%:PROCcreatas?

398 EMDFROC

500 DEF PROCcreates?

610 s24=0PENUP {*52")

620 PTRES2%=1h8% (StudIDX-1)

630 FRINTEs2Y,StudIDE: BPUTES2Y 0

A30 FOR JY=1T032

645 FRINTLs2Y,blank?

£30 NEXT JU:BPUTES2Y,1

440 CLOSELO

670 ENDPROC

700 DEF FROCdeletepl

710 CLS<PRINT"Please type in the IDL of the student” “to be deleted from the file.®

711 FRIRT®I4 vou don't know it, enter the®'“student’s name instead, as on the last® "LLP."
712 PRINT' ""Don’t forget to press RETURN®':INPUTenter$:REPEAT:enterf=eater$+® ":UNTIL LEN(enter$)=30
720 IF ASClenter§)<47 OR ASC(enter#)>3BG0TO730

T236tudID%=VAL {enter$) 1p3%=0PENUP{"p3") :GOTO 780

730 p3L=0PENUP (*p3° ) 1PTREpSY=0znoofstuds1=BBETEp s count =0

740 FOR J%=1 T0 {i7#{noofstudsi-1} STEP 117:icount=count+{

730 PTREp3{=0%+6: IRPUTERIY nane$

760 IF name$=enter$:StudiD%=count: 6070780

770 MEXT JU:PRINT “This naae is not on file - enter new name or number® :CLOSEfp3Z:B0T0712
780 PTREp3Z=117#(StudiDi-11+41

730 PRINTEp3Y,"-999"

795 REM Add hZ z=sguence

800 h2X=0PENUP ["h2") : PTRERZY=0

810 noofdelsi=BEETERZY
820 nootdelsi=noofdelsi+]
830 PTRER2%=0: BPUTERZY noofd
840 PTRERZY=noofdelsX:BPUTER
850 CLOSELO

860 REH delote si/c?
900 51i=0PENUP ("s1")

v
24
n

gl
21, 5tud IDY



920 FTRI=1%=268(Stud1li-1)
730 PRINTLSIE, “-999¢

530 <2%=0PENUF{"52%)

941 PTRES2Z=16B#15tudIDY-D)
776 PRINTsZE,"-999"

784 CLOSELS

790 ENDPROC




LORDTLERY
SLIST
16 HIREH=TRBOO
5 LS
20 DIHSarrayf(16) :DIHSCarrayd (32) :DINERarrav$ (A1 DIHG0Rarray$ (16} s DIHBORarrays 3
25 DIH BweightingZ(32):DIHSueighting?{8): DI Harray$(32,5):DIKH 5flagarray${lé):d
30 StudiDs=457801
31 FRINTCHRS(131);"Hang an a minuis !®
3% BtudiBi=VAL (Btud1D$)
7 BupiBE="R7B30: 7 =0PENUR{ p7" ) PTREDTL=18144 {Bhud 1DY- 1) +5: C2U=RRET S0 7Y,
ﬁﬁ Supname$=4$L7BA0
49 Data$=$37820
31 REH
57 REHGRGSESRFRERAREERSRRBREERARFRRESS
REH
RER READ and DATA statements not necessary when using static files pd and pé
FOR J7=1T0 1&:RERD SarravE{JY):HEYT §%
FOR J%=1TO12:READ SCarray$(J%):NEXT 3%
5 FOR J7=1T04:READ ERarrav$(J%):KEXT JY
&2 PROCdec
¢ PROCintrans:PROCSORgen:PROCEORgen: PROCAndp2e3: lastnol=lastnol-
LE:PRINTCHRS (130} "PRINTING YOUR LLCP NCY, *:PROCprinthead:PROCPrintout
HATNTHENHZ®
7% “Iﬂqtfr EHD
80 DATA"] - Sound input disc.skills®
83 DATR"2 - Vis. Input disc,skills®
90 DATA®Z - Hotor control ahilities”
57 DATA®4 - Single letter recognition”
100DATA"S - Letter group recoonition’
165 DATA"S - Sub-array recognition®
{10 DATA"7 - Array recognition”
115 DATA"8 - Sub-array Phan.Transiation”
120 DATA"9 - Array Phon.Translaties”
125 DATA"10- Array articulation®
13G DATA"11~ Sub-word Phon.Translation®
133DATA"12- Hord Phon.Translation®
140 DATA13- Spelling pattern checking”
145 DATA™14- Hord articulation®
130 DATA"15- Lexical access/retrisval®
135 DATA"L&- Use of contest evidence®

2,4}
1t Hei ightingZ{d):DIHEeightBL(32)

i

Ty

~ L LA onn
LN

o
Lan-]

l""‘

e ~d
[
L]

160DATAFersonal / Individual Relationships (e
LESDATA" Broup Relationships (e
{76DATA"Dogestic and Home (B3N

175BATA"Education/  Training (4)°

{BODATA Health (s

195DATA Functional/ dJob {he

{90DATA " Consuaer matters (D"

193DATA" Travel (g

200DATA"Betting enployment/ EHeing unesployad{?)"
203DATA Civic/ Political(to)®
210DATAEntertainpent Hedia (11}

215DATAThe Law e

20 DATA"Coaprehend siaple  instructionis) (1} 7
225DATA*Coaprehend facts and concepts 12 ¢

230DATA"Select and discriminate facts and concepts "
235 DATA"Asseoble facts and concepts {4 °
240DATAPresent facts apd  concepts (5 "
285DATA Appraciate and Bnjoy by ®

500 DEF FROCprinthead
520 YDu2:vouzt



330 VDUL, L4:PRINT" HEW COLLEGE, DURHAMN - A,R.E. UNIT"

S35 VBUL, LA FRINTY FEERREERLNAILELBTAPERIRLLEEIEIRISY”
340 VDU 1,14:PRI§T" HALLH SYSTER (COPYRIBHT J.A.Byrne 1983)%°
542 YDUL, L6:PRINT® LITERACY CURRICULLB PROFILE:"”

550 VDUL L4:PRINT Supervisore  “{Supnaaed;” (";SuplDZ;#)*'*  Dater *;Dates’

SAG PRINT 4R AR a R H R E B TR A BRI B E B I S A R B B0 R RS SRR R R F U R BB SRR AR RS R R R AR IR HRRH B ISR 4"
370 EMDPROC

&0 DEF PROCprintout

K05 Line$=STRINBS (50,7~

610 VDUZ:vDU2Y

630 PRINT "NAHE: “name$;" (";GtudIDY;"y  LAST LLCP £"3lastnod;® OM “slastdate$

635 PRINTTSTUTDR: ";Tutnzae$ °COURSE: “:Coursef;® THIS LLP IS £%)1astnol+)’

BAE PRINT A R B R D R ST DR I U R R R R R R R BN B S S S A T SRR SR BS54 25"
&30 FRINT' ""LITERACY SKILLS RATINGS CHECK:FRINT®----memmommcmmm oo oo ee v

645 FOR 4%=17014

£30 IF J%=1:PRINTLEVEL ! - FEATURE EXTRACTION" ' :PRINT® “sline}

&31 IF J{=8:PRINT"LEVEL 7 - ENCODING® ':FRINT® “slinet

632 IF J%=£:FRINTTLEVEL I - DECODING"':PRINT" "yiined

633 IF JU=13:PRINTULEVEL 4 - LGING LEYICAL HERDRY"':PRINT® *linef

635 REPEAT:Sarray{Ji)=Barray${J4)+® “:UNTIL LEN{Sarray${d1))=45
660 BIG$=Sarray$(dli+" "+LEFT${S0Rarray$ (L), 1)
465 REPEAT:BIG$=RIGF+" ":UNTIL LEN(BIB$)=50

670 FRINTY T (I
5BO PRINT'® " 1inas

483 MEXT 41
6B& PRINT' ""Revision topic is:  "jRevskill$:PRINT "The next skill to start learning is: ";Dhskill#
&90 PRINT® ' ":VDUL,14:PRINT"PLEASE RETAIN THIS L.L.P. FOR FUTURE EVALUATLON.®:VDU12
700 blank$=5TRINES(Z0," "}:1ine$=BTRINGH{I125,"-") 1 1ine2$=5TRINGS{{37,"-")
705 1inel$=8TRINES (4,7 i
716 yDUZ:VRiZ1
715 FRINT'LITERACY BEHAVIOURS CHECK"'®--r--memomomms oo o
720 PRINT "Current ratings for the student are shoun helow. Each figure shows a rating”
2% PRINT for a particular Expected Reaction in one particular Social Context.”

730 VDU 1,15:PRINT® *:1ine$

735 YDUI, 15: PRINT® {75 FOR 271 TO 6:VDU 1,15

780 PRINTLEFTS (ERarray$(J%),20);%1"

745 NEXT J4:PRINT® aFOR J11 10 62900 1,13
750 PRIKTHIDS (ERarrays (021, 21,2003

755 NEXT J% :PRINT

740 VDUL, 15:PRINT® 100 FOR %=1 70 6:VDU 1,15

765 IF J%=2 PR]NIRIGHT*(EQa,rayiiJ/‘,Zﬁ: “.
770 1F Ji433 PRINTHlanks$;i¥,

77% NEXT JL:PRINT lineld$

78G FOR J%=1TD124C2%

795 VDUL, 15:PRINTLEFT${SCarray${d1},13):1inel$

796 VDUL, 13:PRINTHIDS (SCarray$(J4),14,13);:F0R T¥=1T04: PRINT® O LEFTS (BORarray$ (30,100,830 D HEXTIL:PRINT
795 1F ]7 10RJE=Z2ORIL=9:VDUL, 15 .FPINTﬁ'Df(SCarrayi(}k},27,14),1in235

8OO IF J1=9DRJZ=1:VDU1,15:PRINIRIEHTi(SCarrayitJZ),13);]in93$

803 FRIKTLline2$

810 REYT Ji:VOUL, 1B

815 nos=INSTR(BRevIDY,"+°):irevi$=LEFT${BRevIDs pos-1)irev2§=RIGHT${BReviD$ LEN(ERev]DE) -pos)

820 pos=INSTR{BRowobj¥,"+") :Dcol $=LEFT$(RRowch i¥,pos-1) : Orows=RIGHT$ (BRouoh i¥ ,LEN{BRowob i) -pas)

H

825YDUL, 15:PRINT" ""The student’s next revision topic is: frevii’! in the contest of: fravig’’
830 VDUL, 15:FRINT"The student’s next learning objective is: "Oeols’” in the context of: "Orowd"

840 YDUL,15: PRINT''"The next Expectsd Reaction level for the student to aie at is: "Brolohj$’
855 VDUL, 14:PRINT"FLEASE RETAIN THIS LCP FOR FUTURE EVALUATION®

Bho VDUI::FHINT:VDUb,S

895 EHDPROC

{006 DEF FROCintrans

1013 p3Y=0PENUP{“p3")



1020 PTRED3Z=1178{50ud[BE-1147

1030 INPUTER3Y nase¥, lastdated, lastnod, Tut 1A, Act¥, Coursad: CLASELP3Y
1035 p2Y=DPERUP("p2") tPTRED2U=T18 (Tub IDE-1)47: INPUTER2Y, Tutpaned; CLOSELR DY
1040 REN#Ranes2330883 0354 FHEEREERRE

1150 REHSSEsEREEFaS 8RR SRRREREEERHLEHE

1131 REH

1132 REN Bet L2 row titles for student $res p?

1152 RER

1154 REHEGEMESEEEREIFERITRERERFLESH2H0E

1180 FTIRIp74=14144 (Stud1Di-1) 44

1170 PTREp7Y= (325554} 4+PTREDTY

1175 FORA=1TBC2Y

1160 INFUTEPTY SCarrav${Ji+12)NEXT 3Y

1181 REH

1187 REMAHFHSRRAT8R04 R4 FEEERURIDRTAEESS

1183 REH

1184 REH Hove p7 FTR hack to first Wflag and read in B ratings to BORarravd

1185 REH

1190 FIREp7E=1414% (StudIDi-1144

1200 FOR J%=1T0 32:FOR 1%=1T06

1210 INPUTERTE BORarray$ (3%, 100

12260 MEXT TUoMEXT JUsCLOSEEpTY

1225 REM

1224 REHEBSERFENREAFEFRARERBLREFRRESERE
1227 REH

{228 REH Bet § flags in in SORarray$
1229 REM

1230 REH

1731 REHERFEEREREERIFRERRELRFRELEQELNE
1270 PTREpIL=69%{5tudIDi~1) 45

1280 FOR JX=17014

1290 IRPUTLpSE, S0Rarr ay$ (J%)

1300 HEXT JA:CLOSEEpSY

1310 REH

1315 REHSFEASEERETEERERERRURRBRIRIRTLE
13290 REH

{325 REH Get B weightings into Bweighting array
1330 REH

1335 REHFRFREREREEESEREFEEERERERRREREE
1420 PTREsZY=16B#{StudIDi-1)+7

{440 FOR J%=17032

1430 INPUTLS2%, BueightingZ (%)

1860 NEXT JY

1465 REH Bet ist unflagged column as BY
1470 BA=BBETES2Y:CLOSELS2Y

1473 REH

1400 REHEFF#ESEERREEEERERBRERIHERTRERS
1485 REH

14B5 REM Bet § weightings into Sweighting array from s!
1490 REH

1495 REMEGFEEEEBREREESFRERERIRAFRETERINS
1320 FTREs1%=26#{5tud1Di-1) +4

1530 FOR J%=1704

1340 INPUTESLZ,Sueightingl (J%)

1550 NEXT J%:CLOSEfsLY

1599 ENDPROC

2000 DEF PROCSORgen

2005 RER Bet revision skil proc. level
2010 count=0:1leveli=0:FOR Ji=1T04



2011 IF SwueiqhtingZ(Jd%i=0 GOTD 2014

2012 IF count=0:loui=CSueichtingd (30} :laval¥=diicoun

2613 IF count>0:IF Swaighting?id2}{lowl:lowi=Sueightingh (37 leveld=01
2014 HEXT JI

at=count+!

20151F levelZ=0 R Sueightingi{level%}=34600 Revekili$="No skill to revise - see Obiective":60T0 2048

2018 REM Check level for lowest rated skill

2020 IFlevel¥={istarti=1:topi=3

2030 1Flevell=Z:starti=4itopl=3

2040 IFleveli=3:starti=b:topi=14

2030 1Fleveli=distarti=10:topi=14

2040 SrevIiDi=FNlowstring{start? top?)

2061 Revskilld=Rarray$(SrevIDi)

20462 REHSFHETRSFREEATLERFRFRERRILER545E5

2053 REH

2084 REN Get Gkill obiective,first checking it lowest level is fully flagged
20k REHPFESR333R B84 RERRSABEFHTHTHES

20568 REW - CHECY SKILLS {-14 TO SEE IF AN UNFLAGBED SKILL IS5 AVAILABLE AS AN DBJECTIVE
2069 SOHE=FALSE : IF levell=D:checki=0:607021460

207% FOR JYI=1T014

2072 1F SORarray$(dzi=" " SORE=TRUE

2074 HEYT JU

2080 IF SOHE{>TRUE:Obskili$="No Objective - all skills have been tackled,®:50TQ2I70
2100 IF levell=lichecki=Flchackiull {13

2110 IF levell=2:checki=FNcheckfull (4,5

2120 1F levell=3:checki=Fhcheckiull (4,14

2130 1F leyeli=4;checki=FNcheckfull (15,15}

2140 IF checkZ=0:Sweightingil(lavelZ)=-1:levell=FNslonint (4):5070 2100

2130 REH First unfiagped ckill in level is Sphjective

2140 Obskill$=Sarray$ichecki)

2170 ENDFROC

3000 DEF PROCEGRgen

3005 REW #x#3Get rovision fopic firstéspasss

3004 countar=0

3010 roni=FNblowint (124024}

3015 check=TRUE:REM*##% cherk 14 any elepents(40ss#4

3020 FOR Ju=1T04

3036 IF VAL{BORarray$(row?,d%))>0 AND YRL{BORarray#${rowf,J%))<40 check=FALSE
3633 MEXT JU:1F check=FALSE 6OTOZS0

3040 counter=counter+1:1F counter ={{2+C2%+1] BReviD$="No Revision Topic®
I043 IF counter={12+C2%+1} GOTO 3100 ELSE Bweightingd{rowi)=-1:rowi=FNblowint!i2+¢C2%):
3050 lowk=lexZ=VAL(BORarray$(rowl 11}

3060 FOR J%=2706:1F BORarray$(rowf,J%i=" * GOTO 3080

3070 IF VAL (BORarray$(romh,Ju)) efix%=VAL (BORarray$(rowi,d%) ) lowl=0%

3080 MEXT JY

3090 BReviD4=5Carrav¥{romi}+"+"+ERarray${lowk)

3100 REHS#RSBRECEIEERFHREIVRFELTHRILHE

3101 REH

3102 REH Heut get B objectives

J10% REM

3100 REHGGEEEBAERRASERENERERERRIRERGHES

3110 coli=Ri-1

3120 BRowohj$=""

3130 FOR Ji=t TO (12020

3140 IF VAL{BORarray$(Ji,col%)}=0:BRoscbi$=ERarray${cold)+*+*+5Carray$ (J1) :16OTE 3178
3150 HEXT Ji

3140 TF colY=h BRowobj$=ERarrav$(b)+"Any Social Context® ELSE BRowobj$=ERarray${(BL)+"Any Spcial

I17¢ IF col¥=6 Bcolobj$=ERarray¥(6}ELSE Brolobj$=ERarray$(BY)
3180 ENDPROC

4000 DEF FHslowint{topl)

010 REH##335ERHRFERRRFFEREERS

Contest?



4011 RER This ignores any array elements having a value of -1 and is used for
4012 REH tinding the next lowest proc. level phen necessary in genarating
4013 REM § objectives.

S015 RENR#E3 3225050358 04500 0

4015 LOCAL 3%,%%,lowl

4620 IF SweightingZ(1)=-1 THEN lowl=2 ELSE lowi=!

403¢ FOR J%=1TOtop!

8035 wY=Sueighting’idL)

4040 1Fy¥i=-1 BOTD 4040

4030 IF wi4SueightingXiloni):lowi=d}

4040 NEXT 14

4670 =loni

4160 DEF FHlowstringistartd topl)

4110 LOCAL 3%, %%, lowd

4120 lowk=startZ:xi=49

8130 FOR Jk=starti+{T0top?

4135 IF SORarray${J4)=" * GOT041G0

4140 IF VAL(SORarray${J%1){u¥sxid=YAL(S0Rarray$ (0%} ) : lowi=d?
4150 NEXT J¥

3160 =lowi

4200 DEF FNcheckfull {start¥,top)

4210 REB#I3#3a23 30 R AR HRTRIBREIH IR

4211 BEW Thiz serves two functions:

4212 REF 1 - It checks if a proc level is fully-flagged and returns 0 if so
4213 REH 2 - I not fully flagged, it returns the 1D of the ist unfiagged skill in that level
G214 REMG3+¥3R5825 43450 HFRFRITRITEHER

4215 LOCAL 3% x4

4220 FOR JZ=starti 70 taop?

423G IF VAL{SDRarray$ (J1)1=0:47=0%:6070 4250

124G NEIT 3%

42530 =x1

4100 DEF FNblomintitoph)

4310 LOCAL J%,lowi, u¥ counter

4320 counter=counter+lilowi=counter: IF lowZ>32:108%=32:6G0T0 4330
4325 1F Bweightingd(lowd){1 607D 4320

4330 FOR 2i=1 70 topl

4340 wi=BweightingX (X

4145 IF x%=0 GOTO 4360

4346 IF wi=-1 BOTD 4340

4350 IF y¥{BweightingZ(lowii:lonl=d]

4340 NEXT J4

4370 =lowl

4300 DEF FROCmodp2p3

4310 p2X=DPENUP{"p2")

4320 FTREp2L=T1(Tut[DI-1}+40

4530 PRINTLp2Y,Date$

4340 p3i=OPENUP{*p3™)

4550 PTREpIL=117% (Stud[D%-11439

4360 FRINTLp3Y,Dates

4370 INPUTEp3Y lastnoX:lastnoi=lastnai+]

4580 PTREpIN=PTREPSE-5

4590 FRIKTEP3L,lastnol

4600 CLOSE£0: ENDPROC

4500 DEF PROCdec

3010 PTREPTA=1414%{StudiDi-1)

3020 PTREPTI=PTREPTIL+b

3030 FORJ%=1TO32:FOR 14=1T06

3040 IHPUTLPTL,FLAGS

3030 IF FLAGS=" ° BOTG 5100

3060 TF VALILEFT$(FLABY,1}}=4 BOTD 5100



3070 DUR=VAL (RIGHT$(FLAGS, 1} :DUR=DUR-1
3080 FLAGS=LEFTE(FLAGS, 1) +8TRS(DUR}
3090 PTREpTI=PTREpT7%-4:PRINTEDTY FLAGS
3100 NEXTIZ:NEXTIZ

3140 FTREPTE=14142 (StudIDi-1)+6

2150 FOR J%=17032

5140 FOR I%=1T0&

70 INPUTERTY Harray$ (%, T

180 MEXT IL:NEXTJY

5190 FOR JZ=1T012+C2Y

5200 YeightBX{J%)=FRcales2(dW)

3210 MEXT 4%

3220 cal=0

5230 col=col+l:check=0

3240 FOR row=170124027+8Y

3230 IF Harray${row,col)<}® " check =i
a260 NEXT row

3280 IF check=0: Bi=col :60705310
5290 IF col=6:B%=7 :60T05310

3300 BOTO 3230

3310 s24=0PENUP(®s2")

3320 PTREs21=168%{StudIDi-1)47

340 FOR J¥=17032

330 PRINTESZY,HeightBL{I1)

3460 NEXT J%

370 BPUTESZY,BX

4000 pSY=OPENUR("p3"}

010 FTREPIE=69#(5tudIDL-1)+45

6020 FOR J4=17016

5030 IRPUTEPSY, Flag#:IF Flag$=" "G6OTD 4080
£040 Rate$=LEFT$(Flag$,1):Dur$=RIGHTS(F]ag$,1}
6000 IF Rate$="4"0RRate$="0" 5OTQ L0B)
A040 Dur$=STRE{VAL {Dur$)-1)sFlan$=Rates+Dur$
6070 PTREpIL=FTRLpIL-4:PRINTLpSE, Flag$
b0BO NEXT J1

6136 s1Z=0PENUP{®s1™)

&140 PTREpSZ=69% (Stud1Di-1)+5

6130 FOR J%=17014

4160 INPUTER3Y, flag$:Sflagarray$(di)=flag$
6170 NEXT 3%

4180 REM Calculate weightings for szach level
6190 Weighting®{1)=FNCalck (1,3}

6200 Heighting%{2)=FNCalch(4,5)

5210 HeightingZ{3)sFNCalcl(4,14)

6220 HeightingZ{4)=FNCalcl (15,16}

§230 FTREs1A=26%(StudIDi-1)+4

4240 FOR Ji=1704

6230 FRINTESLZ, HeightingZ{di)

4260 NEXT 3i

&265 ENDPROC

6290 DEF FNCalcH(A,R)

8300 LOCALYS,Y$,28,P,L,D

4320 FOR J7=A TO B

6330 ¥$=Sflagarray$idi}

6340 YH=LEFTS(X$ 1) :I4=RIBHTH (XS, 1}
4330 IF VAL(Y$)=0 6070 4370

4360 P=P+1:L=L+VAL (Y$) 1 D=D+VAL{I$)

6370 KEXT 3

6380 P=INT{(P/{(B-A}+1))#100)

6390 L=L/({B-A)+1) :D=D/ ((B-A) +])



H40G0
5500
6310
B520
4330
4540
4330
4340
8370
6380

=INT (P&l 4D}

DEF FHrales2iroui)
LOCAL L,N,D,c0l
FORcol=1705
obi$=Harray${roul,cal)

comp¥=LEFTS(obi%, 1) : dur$=RIBHTE(0b 5,1}

IF comp$=" " AND dur$=" * BOTOAGHG
L=L+VAL (comp$i s D=D+VAL {dur §}

N=N+1

MEXTcal

IF N=0 BOTO0&A1D

L=bL/H:B=0/K

BL=INT (NaLsD)

200 1F Lo0 AHD BY=0 Hl=Ri+i
0 =i

s
I




LORD"HENUZ®
IS8T
20 CLBicarsd=" *
k{4 iFZ“?q i
B OEKEY & vav

HALCH SYGTER - HAIN HENU®
RALCH SYETEM - BAIN HERNU®

seG PEIHT Eniﬁtli?) '

: {Copyright J. A=u
140 FRINT''''CHRE{129;;*PLEASE SELECT USIN
180 PRINT® £1 - Gysteas [ata Operations®’

140 PRINT® 42 ~ Tutor frcess™’

170 PRINT® £2 - Soperviscr fAccess”’

190 FPRINTCHR${134) scares

200 care$=® "rY=GET

216 IF ¥=4% PROCsdo

228 1IF X=50 FROCtuter

230 TF ¥=R] CHAEIN"SG®

250 IF 1449 (R 1>9Y:rareé="4RONG KEY PRESSED - TRY AGAIN®:CLE:BDT0I00

250 EMD

400 DEF FROCcdo

410 CLG:FRINTCHR${129) :CHRE(1G7);CHRE(1ZS) "HALCR - GYSTEH DATA OFERATIONS®
420 FRINT " ""Do vou want to”®

430 PRINT P41 - Alter TUTDR details 7%

§40 PRINT *f2 - Alter STUDENT details 7%

430 FRINT "3 - Do neither of these - escape 7°°

450 FRINT " ""PLEASE SELECT USING ";CHRE(129);"RED KEYS";CHR${135);" DHLY®

470 ¥=GET:IF {=4% CHAIN®SDDL®

480 IF ¥=30 CHAIN®SDO02°

490 1F X=31 507020

495 PRINT'CHR${134); "HRIONS KEY PRESRED - TRY ABAIN":80TO470

494 ENDPROC

500 DEF PROCiutor

atf CLS

520 PRINTCHR$(135):CHR$C141) (CHR$ (157} ;CHRE(129) 7 HALCH - TUTORS SERUENCE®
330 PRIMTCHRE (135} ;CHRE (141} CHRE(IST) ,LHR& ,“ HALCH - TUTORS SEQUENCE®
540 FRINT'"'"Do vou want to:™°

330 PRINT"f1 - Bive new ratings for SEILLS 7%

540 FRINT"$2 - Bive new ratings for BEHAVIQURS 777

570 PRIMT®$3 - Produce a LITERACY CURRICULUN®'® PROFILE {LCP) 7%

B0 PRINT"{4 - Hone of these - escape ?°°°

585 PRINT"Please select using “;CHRE(129);"RED KEYS";CHR${135); "only®

390 ¥=6ET

595 IF X<49 OR Y¥52 PHINTcare$:BOT0S90

400 IF ¥=49 CHAIY *TUTOR-§

£10 IF X=30 CRAIN "TUTOR-B

£20 IF X=31:CLS: INPUT"TYPE IN YDUR STUDENT'S IDE£° "THEN PRESS RETURN:"'"1D%
827 IF ¥=32:RUH

625 $RTROL=1D$:CHAINFLLP"

430 BOTOZ0

£40 ENDPRIC
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